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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2022 

LIFE SCIENCE 

LSE-09 : ANIMAL DIVERSITYI 

Time : 3 hours Maximum Marks : 75 

Note :  Question no. 1 is compulsory. Attempt any six 

questions from questions no. 2 to 8. 

 

1. (a) Fill in the blanks. 51=5 

(i) Osmoregulation and excretion in 

protozoans are carried out by 

__________. 

(ii) The __________ theory states that 

metazoans have arisen from a 

multinucleate ciliate by 

compartmentalisation.  

(iii) The four classes of Phylum 

Platyhelminthes are ________, _______, 

_________ and __________ . 

(iv) __________ is the division of the body 

into a series of segments each 

containing a section of almost all 

systems. 

(v) In sea-star, anus and madreporite are 

found on the  __________ side. 
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(b) Give one word for each of the following :  51=5 

(i) Eukaryotes that are single-celled. 

(ii) Symmetry in which organisms are 

divided into two identical halves from 

anterior to posterior end. 

(iii) Arthropods with unbranched 

appendages. 

(iv) A mechanoreceptor concerned with 

perception of gravitational force and is 

also a balancing organ.  

(v) Larval form of Class Polychaeta. 

(c) Match the items given in Column A with 

those of Column B : 51=5 

 Column A  Column B 

I. Sea urchin A. Daphnia 

II. Obelia B. Onychophoran 

III. Crustacean C. Book lungs 

IV. Arachnids D. Echinoid 

V. Peripatus E. Cnidaria 

2. Describe the life-cycle of malarial parasite with 

the help of suitable diagram. (200 – 250 words) 10 

3. (a) Discuss characteristic features of Phylum 

Ctenophora. (150 – 200 words) 6 

(b) Describe the useful role of non-chordates  

in the agricultural sector with suitable 

examples. (100 – 150 words) 4 
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4. Differentiate between the following pairs of 

terms : (50 – 100 words) 42
2
1 =10 

(a) Pseudocoelomates and Eucoelomates 

(b) Taxis and Kinesis 

(c) Aplacophora and Polyplacophora 

(d) Binary fission and Multiple fission 

5. What is polymorphism ? With the help of 

suitable examples describe the polymorphic 

forms of any two insects. (250 – 300 words) 2+4+4=10 

6. (a) Write an account of hormonal control of 

growth and metamorphosis in insects. 

(200 – 250 words) 6 

(b) Name any two insect pests of sugarcane and 

add a note on the damage caused by them. 

(100 – 150 words) 4 

7. (a) Explain any three types of pseudopodia in 

protozoans with the help of suitable 

examples. (200 – 250 words) 6 

(b) Name any four respiratory organs found in  

‘non-chordates’. (50 words) 4 
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8. Write short notes on any two of the  

following : (150 – 200 words) 25=10 

(a) Water Vascular System in Echinodermata 

(b) Migration in insects 

(c) Torsion in gastropods  
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Ord {dkmZ 

Eb.Eg.B©.-09 : àmUr {d{dYVmI 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 75 

ZmoQ> : àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 8 _| go {H$Ýht N>h 
àíZm| Ho$ CÎma Xr{OE &  

 

1. (H$) [aº$ ñWmZm| H$s ny{V© H$s{OE : 51=5 

(i) àmoQ>moµOmoAm _| namgaU{Z`_Z Am¡a CËgO©Z 
_________ Ûmam gånÞ hmoVm h¡ & 

(ii) _________ _V Ho$ AZwgma _oQ>mµOmoAm H$m 
CX²^d ~hþHo$ÝÐH$s` {g{bEQ> _| H$moîR>rH$aU go 
hþAm h¡ & 

(iii) \$mBb_ ßb¡Q>rhopë_§WrµO Ho$ Mma dJ© 
_________, _________, _________ Am¡a 
_________ h¢ & 

(iv) {H$gr àmUr eara H$m g_mZ I§S>m| H$s ao{IH$m 
ûm¥§Ibm _| {d^mOZ, {Og_| àË`oH$ I§S> _| àm`: 
g^r V§Ì nmE OmVo h¢, H$mo _______ H$hVo h¢ & 

(v) g_wÐr Vmao _| JwXm Am¡a _oŚ>onmoamBQ> _________ 

gVh na pñWV hmoVo h¢ & 
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(I) {ZåZ{b{IV àË òH$ Ho$ {bE EH$ eãX {b{IE :  51=5 

(i) `yH¡$[a`moQ> EH$b-H$mo{eH$s` hmoVo h¢ & 

(ii) g_{_{V {Og_| àm{U`m| H$mo AJ« {gao go níM 
{gao VH$ Xmo A{^Þ AYmªem| _| {d^m{OV {H$`m 
Om gH$Vm h¡ & 

(iii) AmW«m}nmoS>m> {OZ_| Aem{IV Cnm§J hmoVo  h¢ & 

(iv) `m§{ÌH$J«mhr Omo JwéËd ~b Ho$ ~moY go g§~§{YV 
A§J hmoVm h¡ VWm EH$ g§VwbZH$mar A§J ^r h¡ & 

(v) dJ© nm°brH$sQ>m H$m bmdu` àH$ma & 

(J) H$m°b_ A H$s _Xm| H$m H$m°b_ ~ _| Xr JB© _Xm| go 
{_bmZ H$s{OE : 51=5 

 H$m°b_ A  H$m°b_ ~ 

I. g_wÐr A{M©Z  A. S>¡\²${Z`m 

II. Amo{~{b`m B. Amo{ZH$moµ\$moam àmUr 

III. H«$ñQ>o{e`Z C. nwñV \w$â\w$g 

IV. EoaopŠZS> D. Eo{H$Zm°BS> (eybm^) 

V. noarnoQ>g E. ZmBS>o[a`m 

2. Cn`wº$ AmaoI H$s ghm`Vm go _bo[a`m naOrdr Ho$ OrdZ-MH«$ 
H$m dU©Z H$s{OE & (200 – 250 eãXm| _|) 10 

3. (H$) \$mBb_ Q>oZmo\$moam Ho$ {d{eîQ> bjUm| H$s MMm©  
H$s{OE & (150 – 200 eãXm| _|) 6 

(I) H¥${f Ho$ joÌ _| AH$eoé{H$`m| H$s bm^H$mar ^y{_H$m  
H$m Cn`wº$ CXmhaUm| Ho$ gmW dU©Z H$s{OE & 
(100 – 150 eãXm| _|) 4 
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4. {ZåZ{b{IV nXm| Ho$ `w½_m| Ho$ ~rM A§Va ñnîQ> H$s{OE :  

(50 – 100 eãXm| _|) 42
2
1 =10 

(H$) Hy$Q>grbmo_r VWm gwgrbmo_r 

(I) AZwMbZ VWm J{VVm 

(J) EoßbmH$moµ\$moam VWm nm°brßb¡H$moµ\$moam 

(K) {Û-I§S>Z VWm ~hþ-I§S>Z 

5. ~hþê$nVm Š`m hmoVr h¡ ? Cn`wº$ CXmhaUm| H$s ghm`Vm go  

{H$Ýht Xmo H$sQ>m| Ho$ ~hþê$nr` àH$mam| H$m dU©Z H$s{OE & 

(250 – 300 eãXm| _|) 2+4+4=10 

6. (H$) H$sQ>m| _| {dH$mg Am¡a H$m`m§VaU Ho$ hm°_m©oZr {Z`§ÌU Ho$ 

{df` _| {Q>ßnUr H$s{OE & (200 – 250 eãXm| _|) 6 

(I) JÞo Ho$ {H$Ýht Xmo H$sQ>Zmer Ordm| Ho$ Zm_ {b{IE  

Am¡a CZgo hmoZo dmbr j{V Ho$ {df` _| {Q>ßnUr ^r 

{b{IE & (100 – 150 eãXm| _|) 4 

7. (H$) Cn`wº$ CXmhaUm| H$s ghm`Vm go àmoQ>moµOmoAm _| nmE 

OmZo dmbo nmXm^m| Ho$ {H$Ýht VrZ àH$mam| H$s ì`m»`m 

H$s{OE & ( 200 – 250 eãXm| _|) 6 

(I) ‘AH$eoé{H$`m|’ _| nmE OmZo dmbo$ {H$Ýht Mma ídgZ 

A§Jm| H$m Zm_ {b{IE & (50 eãXm| _|) 4 
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8. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßn{U`m±>  

{b{IE : (150 – 200 eãXm| _|) 25=10 

(H$) EH$mBZmoS>_mªo _| Ob g§dhZ V§Ì 

(I) H$sQ>m| _| àdmg 

(J) J«¡ñQ´>monmoS>m| _| {d_moQ>Z (_amo‹S>) 


